
Type: DSk 658-1 (50Hz, 42V)
Part no.: 72022600041

Item Part no. Designation Quantity
Price
(excl. VAT)1 Status

10 31903101015 Motor housing 1 $291.20 **

20 31913017026 Housing 1 ***

30 30712051003 Brush holder 2 ***

31 42615135005 Circlip 2 $0.90 **

40 43002105055 Cylinder head screw 2 $0.90 **

50 42443004057 Circlip M5 2 $1.00 *

60 51225008043 Stator 1 ***

70 43001004042 Hexagon socket screw 2 $2.40 **

100 30711041000 Carbon brush 2 $12.10 **

110 32427037016 Cover 1 $16.20 **

120 30901199001 Spiral spring 2 $0.90 **

130 43002034043 Cylinder head screw 4 $0.90 **

140 31428052003 Air guide ring 1 $5.30 **

160 53225006043 Armature 1 ***

210 31506169005 Intermediate gear box 1 $144.20 **

211 32131028004 Nipple 1 $1.70 **

220 31508116002 Gearbox housing 1 $326.10 **

250 40201038008 Straight pin 1 $0.90 **

260 33402038004 Shaft 1 $228.30 **

270 32612050000 Sealing ring 1 $26.50 **

280 41713003002 Tapered roller bearing 1 $34.40 **

290 32408164007 Disc 1 $6.40 **

291 32408175000 Disc 1 $3.00 **

300 30601061000 Felt ring 1 $1.00 **



Type: DSk 658-1 (50Hz, 42V)
Part no.: 72022600041

Item Part no. Designation Quantity
Price
(excl. VAT)1 Status

310 32408173008 Disc 1 $1.10 **

320 30601060001 Felt ring 1 $1.00 **

321 32411067002 Disc 1 $1.10 **

330 41701015024 Grooved ball bearing 1 $9.90 **

340 32408168006 Disc 1 $1.70 **

350 40221027003 Feather key 1 $1.50 **

360 33665012003 Gear-wheel 1 $75.40 **

370 42003006001 Hex nut 1 $2.00 **

380 33811009002 Gear-wheel 1 ***

390 33657032004 Gear-wheel 1 $47.30 **

400 41701204010 Grooved ball bearing 2 $5.80 *

410 41701204010 Grooved ball bearing 2 $5.80 *

420 33765005009 Gear-wheel 1 ***

430 40221045004 Feather key 1 $2.30 **

440 33811032004 Gear-wheel 1 $126.90 **

450 42616009003 Circlip 1 $1.00 *

460 30217186001 Bolt 1 $21.90 **

470 32805052000 Lever 1 $29.40 **

475 32805052019 Lever 1 $71.90 **

480 30901202001 Spiral spring 1 $1.60 **

490 30216086001 Bolt 1 $6.50 **

500 30217191008 Bolt 1 $30.20 **

510 40238007005 Clamping sleeve 1 $1.60 **

520 40238011008 Clamping sleeve 1 $0.90 **



Type: DSk 658-1 (50Hz, 42V)
Part no.: 72022600041

Item Part no. Designation Quantity
Price
(excl. VAT)1 Status

560 41701204010 Grooved ball bearing 1 $5.80 *

570 41701207033 Grooved ball bearing 1 $8.40 **

580 32612057005 Sealing ring 1 $9.80 **

590 31406028007 Sleeve 1 $4.60 **

600 43033014058 Cylinder head screw M5X25 4 $1.00 *

610 43035027056 Cylinder head screw M5X80 2 $2.60 *

620 43035024055 Cylinder head screw 2 $1.20 *

630 40611001002 Sealing ring 4 $2.00 *

640 43033012056 Cylinder head screw M5X20 4 $1.00 *

741 32420020005 Flange 1 $34.20 *

800 30701073005 Switch 1 $37.90 *

810 32431021007 Cable clamping piece 1 $1.00 *

820 43041001994 Fillister head screw M3,5X10 2 $1.00 *

830 31413090003 Cable grommet 1 $3.20 **

840 30722032001 Capacitor 1 $13.20 **

850 30706068010 Cable 1 $55.50 **

2000 31204161004 Handle half shell 1 $38.50 *

2007 31204064066 Handle 1 $117.00 **

2010 31204163001 Handle half shell 1 $36.70 *

2020 43041027045 Fillister head screw 2 $1.00 **

5000 63305003003 Drift keys 1 $15.80 *

5010 32119153010 Handle 1 $71.20 **

6000 32132007033 Lubricant can 0,850 kg 1 ***

9020 34130054061 Safety instruction 1 **



Type: DSk 658-1 (50Hz, 42V)
Part no.: 72022600041




